RKC8T-1-RSC8T/TXY3013
HTE/MEREEE  PUR - IEKEH

M12x1 215 ~514

ol5
2514 m12x1

BAREIE
BE RKC8T-1-RSC8T/TXY3013
®5 100000218
BERHA #3k, M12 x 1, B, A-coded
HE%E 8
fil X 4F , Cuzn , S
AR E B TPU, B
TEEF BH, TPU, #
E IR RET 4, Cuzn, 4E48
Seal B, FPM/FKM
5D > 100 IR
EREE 3
RpEE IP67, IP6IK, REIFERST
ERHB B4, M12 x 1, B, A-coded
HEH%E 8
fil X 4 , Cuzn , S
AR E B TPU, B
FEEF BRME, TPU, &
TE IR R/ E R 0RET 40, Cuzn, $E48
MES > 100 @R
EREE 3
B S5 IP67, IP6OK, 1N 247437 — 2 At
B4
SKEER @ 5.9 mm +0.20
REKE 1 m
5% ok 3 PUR, &
S84p5MN PP
LB 8x0.25 mm?

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 1|3

BR
RVIPAYIN
IP67/
(O RoHS| |RoHs [
LISTED compliant| | compliant DEGREE OF
PROTECTION

Y0)o)o) Y
599 é o
Taaac |
M Female M12, straight, 8-pin
M Male M12, straight, 8-pin
EHEMR : PUR
NFEHE :: &6
NXEHE :: &6
NERTiES
B FEm, MENEK.,
B EAMHEMRM (UL 1581 FT2, IEC
60332-2-2 )
BTrEXK. BHE. PVCHILABS
45 3 T B R
BB ER : IP67, IP6IK
HEAKE :1.0m

SEEEE

RKC8T-1-RSC8T/TXY3013| 25-02-2025 05-37 | R EHEARHIEHR



FAREKAE
1BN2V(V)H #BY SEV 2W1BN
RE%  HE 32x0.1 mm soe4BK 4BK806
KEmE BN, WH, BU, BK, GY, PK, VT, OG VT e 5GY 5GY Al
BSMEE@20°C
PEIHRSBE 30V
Z]
iR B 2000V B3R
B 2A
FE BN ]
Z: 0k > 30.5 MQ/km : ;0] WH — |
ER®H B AME 79 Q/km | 35 B a3 |
e | | BK | |
WAL 2182 e oY o
P4
THLE (EERLE) > 5 X0 Be PK 6 |
1 VT 1
TR (FH) > 10 xQ@ I 75> =7 |
I gy | 0G | mg |
EhER >58A b -
RFNEE &S 5 m/s?
B KL ERR 5m (5 m/s? )
RTEERERR 2m (5 m/s2At)
BiFERRE 3.3m/s
R H +180 °/m
HREEE (EE ) -50...+80 °C
RERE (B3h) -25...+80 °C
RERE (¥4 ) -25...+60 °C
TAIE cULus
REHE
¥HE  [DIN47100 (R ) DIN EN
60947-5-2 ( $7 )
1 B ¥R
2 = =]
3 % i
4 = 2
5 ®FHE GZHE
6 » *
7 % VT
8 I &
B 44
TORQUE-WRENCH-SET-AS 6936170 BLANK-LABEL-FOR-CORDSETS-TEL-TXL 6936206

WERFER ; KETEHLE0.4-1.0
Nm , FFM8 (SWO)HH4ERTF , A
FM12 (SW 14)8 AR F

TEL 1 TXL &4t , KE : 18
mm , S : 4mm, #E : REEKE
(PC), Hita : A2, TEX%E , AR

Hans Turck GmbH & Co. KG | 45466 Mulheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 2|3

RKC8T-1-RSC8T/TXY3013| 25-02-2025 05-37 | R EHEARHIEHR



e BE %5

LABEL-HOLDER-FLEX-PVC 100048170 AFFREKEBMPVCIRERX ( TEL/
TXLF=@RRH )  EANLEER . &
N5mm ; R 74 x 18 mm ; BFEM
1% . S8504

RKC8T-1-RSC8T/TXY3013| 25-02-2025 05-37 | REHE R MEEHK

Hans Turck GmbH & Co. KG | 45466 Milheim an der Ruhr, Germany | T +49 208 4952-0 | F +49 208 4952-264 | more@turck.com | www.turck.com 3|3



